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(1) p is true;
(2) S believes that p;



(3) S is justified in believing that p.
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(d) Jones is the man who will get the job, and Jones has ten coins in his pocket.
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(e) The man who will get the job has ten coins in his pocket.
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(f) Jones owns a Ford.
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(g) Either Jones owns a Ford, or Brown is in Boston.
(h) Either Jones owns a Ford, or Brown is in Barcelona.
(1) Either Jones owns a Ford, or Brown is in Brest-Litovsk.
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1) (e2) is true;
(2) S believes that el;

(3) S i1s justified in believing that el.
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"'S knows that p.Df. (1) p is true, (2) S believes that p, (3) p is epistemically
justified for S, and (4) there is no true proposition, g, such that if S were justified
in believing q, then S would not be justified in believing that p. | '
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r Example 3. 7: The Grabit Case

Black sees her student Tom Grabit stick a tape in his coat pocket and sneak out
of the library. She knows that Tom took the tape. Now, imagine that Tom's crime
is reported to Tom's mother in her room at the psychiatric hospital. And she
replies that Tom didn't do it, that it was his twin brother Tim. And imagine
further that he has no twin, that this is just another one of her delusions. Black is
ignorant of all this.

' 2K Noah Lemos, An Introduction to the Theory of Knowledge, CAMBRIDGE UNIVERSITY
PRESS 2007, p. 32



Why is this a problem? Consider this truth:
(10). Tom's mother said that Tom's twin Tim took the tape.

Notice that (10) itself is true, even though what Tom's mother said is false. If
Black were justified in believing just this truth-but not the rest of the story about
her-that would defeat Black's justification. It is a misleading defeater.

Again, this may seem confusing. But the idea is relatively simple. If we
can know ordinary things, then there can be other truths such that if we learned
them, they would undermine our justification for the thing we know. But some

of these defeaters are misleading. | *
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2 25 Richard Feldman, Epistemology , New Jersey, 2003, p.35-36



